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o A stone is dropped from the top of a cliff
and the distance it fell was recorded at

iIntfervals of time in the table

2011 - Higher

Time s

« Draw a graph of distance against time in the

grid below.
« A smooth curve through the plotted points is

required
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o Use the graph to find how far the stone had
fallenin 3.5 s

o Calculate the average speed of the falling
stone between the second and the fourth
second. Give the unit with your answer.

o In this experiment is distance fallen directly
proportional to time? Justify your answer.




2011 - Ordinary

A cyclist moved along a straight track. A
student measured the time taken by the cyclist
to travel various distances.

The data collected is shown in the table.

The student then drew the graph shown below.

Time s
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Name an instrument used to measure the distance in this
investigation

Name an instrument used to measure the time in this
investigation

Use the graph to estimate the distance travelled by the
cyclist in 5 seconds

Calculate the speed of the cyclistinm s-1 (m /s).

Is the cyclist acceleratinge Give a reason for your answer.




2009 - Higher

A stone was dropped from the top of a tall
cliff. The stones approximate velocity was
measured each second as it fell. The data
collected during this experiment is given in
the graph.
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Define velocity.

Use data from the graph to estimate the
acceleration of the stone as it fell. Give the units of
acceleration with your answer.

Name the force that caused the stone to fall.

The stone had a mass of 2 kg. What was the weight
of the stone on earth? Give the unit.




2009 - Ordinary

A cyclist moves 20 metres 5m/s
along a frack in 4
seconds.

80 m/s

In the table write the
letter § beside the speed 10m
of the cyclist.

40 m

Write the letter D beside
the distance the cyclist
will fravel in 2 seconds.




2008 - Ordinary

A cyclist moved along a track. The distance
travelled by the cyclist was measured every 2
seconds. The data collected is presented in the
table below.

Time s

Use this data to draw a graph of distance
travelled (y-axis) against time (x-axis) using the
grid provided below.




" " P— " Bendbends
1 | I'1 1 {
*. ol >4. I B BS ‘e *. + .;F N e o bbb
| | | | | !
. | , , BRREN |
4 RN | \ L ’ U] ' ' ..** ’ (B LA B B
| | |
1T | TTTT 4
. o.oﬁ ‘e -4 . ‘o ‘ ‘ ﬁ.. . b e o )
i | | |
| [ 1] | | 1] A o0
| 111 111 | _
. L A | ™1 - ’ L t » =91 ’ | B L R )
| | | | 1 || )
|‘..;|,?ldqﬂl - olia' B B B R L A e “V * 14‘4oﬁlwl e Ppopepespen pepapopopenopuponpen o
| ! !
S R AR _040, L] L B  EEE R R - e e
. -t . . . D . . .
ﬁ. | B | | | | |
Ll L1l N L 1]
| 11 | | | ! |
) I ] .4- {8 ) ’ re ' | ...* ’ () RN B RN ]
il L ;
LI : ! L Ll |
ol 1171 u| I ] 111 |8 , | 0
. e R SRS B T
Ll L L1l I | ]
| ’ | |
| LR | A | 1] (] L B N ]
BT B ST - e DY S T S B B I S S ~oebbeb
| | ! |
'*” .04H 4 oﬂ. 4 o a4 LA A .
4 Sadod A 4 - —
H | w | | (7,]
g - @-0~§~ - e B S B 2 - . R SR N’
| i || |
4 Saded Sabade
| |
[ 11 [ | )
| |
4 ,o.* . ‘. [} ) .A.. , ‘oo bt m
! | ! o
e ] IUESINERS ERSRSET B ' | -
- Pt + ‘011.? * N ame o T *
4 ..ﬁ » ‘. ] ‘ ..ﬁ (3 (3R] .*.o
| ! |
! e 3
- et - -y PERPA TR T B T . . e o Bl ot S S B S B T R
| | { 1| ’ | ]
, | | | || | || ’
4 LR | ’ e “. 1 ..4 ’ * peoe o LY 28 |
' et 4
. o.' . ‘o *. 4 .h. . ‘. o.ooo
,V _,% !
| __ | ! 2
! I 11 !
+ 4y ’ + o 1t 1 -4+ ' [
| | | | { ||
D ot R B B 4§ -4=4- “pp=t—{=f—t—t-e=t—
H £ ».HF L !
- L ik A 4 * e ' 44.4ﬁ ' pee L A A
T T 111 ! |
1 HMW >H4M | I !
| h | | ! |
| BRI ) » [} | ' 11 . L) L RS )
| ! | | |
111 T
| | 1 11
| | 1 111111 | ['TT) o




Use the graph to estimate the distance
travelled by the cyclist in 5 seconds. .

Calculate the speed of the cyclist in m s—1
(M /s).




2007 - Ordinary

The speed of acaris 15 m s—1

INn The table write the letter D

beside the distance the car /om
will tfravel in 5 seconds. Acceleration
Write the letter F beside the

Force

word that describes what
happens when the speed of a
car increases.




